Optimization and maximum likelihood estimation
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optimize(f, c(a,b)) #RH B ea, b AR M
optimize(f, c(a,b), maximum=TRUE) #KREKfEa, bk 89RkKME

Example 1. MB3#&f(r) = —22 — 1, 2 € (—o00,00). KfE[-1,1] L8R K
fa.

f <- function(x){ return(-x~2-1) }

opt <- optimize(f, c(-1,1), maximum=TRUE)
opt$maximum #E A R RAE G B
opt$objective #IR RAA

e optim 4% 435 k.
optim(par, f) # R 2B FME, par B RBEFEALLE

Example 2. BAEf(r,y) = 22 + 9%, 2, y € (—00,00). VYA(z,y) =
(0.1,0.1) B AR AL & F ik Aedb 4, Rfo9 R 1A,

f <- function(a){ return( (al[1]-2+a[2]°2) ) }
opt <- optim(c(0.1,0.1), £)

opt$par #45  ROME R B

opt$value #3x MA

e Maximum likelihood estimation (& K#AAEFTE). BB T H 5 H & Roe
S BORT. R ZHE AL R # (likelihood function)# 4 & K44
BOVE B O AE A, & BAT A AR, BIRRE B AT AR E R0
W, STAEL(0). #L(0)HL 5O T B PP Bl 2 #.

o BRALRBL(0)H A & K AL 690" 089 & KA AE 3T 2 (Maximum Likeli-
hood Estimator, MLE).

e Example 3. BEAAL0FEH LR A Poisson(p) 89 T+, LF5E 50, 4%F
B, 1£52. RutIMLE.

Likelihood function:
L(u) = P(Poisson(p) = 0)5P(Poisson(u) = 1)*P(Poisson(u) = 2)
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Let g(p) = InL(p), then g(u) = —10p + 61n(p) — In(4!12!) and ¢'(u) =
—104 6/p. It is clear that g(u) is is maximized when p = 0.6, so L(u) is
also maximized when p = 0.6. p#MLE= 0.6.

R solution:




g <- function(mu){
m <- length(mu)
ans <- mu
for (i in 1:m){
a <- dpois(c(rep(0,5), rep(1,4), 2), mulil)
ans[i] <- sum( log(a) )

}

return( ans )

}
optimize(g, c(0.0001, 100), maximum=TRUE)$maximum #MLE

e Example 4. BZXA12FH 2L 8 Poisson(u) 89 EH, EF5F£ 50, 4%
B, 3E A2 E(£2). 12200 Loy FH I R A sk Bl Rk A 204
L. Ru#MLE.

Likelihood function:
L(u) = P(Poisson(u) = 0)° P(Poisson(u) = 1)* P(Poisson(p) > 2)?
Let g(u) = In L(p).

g <- function(mu){
m <- length(mu)
ans <- mu
for (i in 1:m){
a<- sum(log(dpois(c(rep(0,5), rep(1,4)), muli])))
b <- sum(log(l-ppois(rep(1,3), mulil)))
ans[i]<- atb
}
return(ans)

}
optimize(g, c(0.0001, 100), maximum=TRUE)$maximum #MLE

e Practice Problem 1. 183 f(z) = z—sin(2?), z € (—o00,00). Rf#£[-2,2] L
CSE -2

e Practice Problem 2.
(a) BAA1REB LA B Bin(2,0)8 &4, ZP5Z A0, 5F 51, 2F A2.
KO MLE.

(b) KT (a)912F FH, X% TREE LR A BIn(1,0)8 T4, 2%
FHF1IZEE, 1541 EAABI4FTH, ROHMLE.



